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Question 15
15 Which of these fractions is closer in value to 17

3 13

10
You must show your working.
[2 marks]
Answer
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_Student A

115 Which of these fractions is claser in value to 17
3 13
4 10
[
You must show your working. 0.75 lll )ﬁf )

1_

[2 marks]

3
Answer @ ""EE

Commentary

0.75 scores M1. The conversion of the second fraction to a mixed number is completed correctly

but taken with 0.75 there is not sufficient working to award the A mark.
1 mark
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Student B

15 Which of these fractions is closer in yglue to 17
13
10
You must show your working.
[2 marks]
2 \2
S — e & T A —_—= .20
- G T
ANSwer iy
Commentary

The two decimal values are correct and the decision is made by circling and is not contradicted on

the answer line.
2 marks
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Question 14

14 (a)  Use your calculator to work out

(Give your answer as a decimal.

Write down your full calculator display.

9957 x 298

[1 mark]
Answer
14 (b)  Isyour answer to part (a) sensible?
Use approximations fo decide.
You must show your working.
[3 marks]
Tick a box.
Sensible Not sensible
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Student A

14 (a)  Useyour calculator toworkout 9957 =298
Give your answer as a decimal.
Write down your full calculator display.
[1 mark]
B 1
2950 .2%45 B
5
14 (b) Is your answer 1o part (a) sensibla?
Use approximations to decide,
You must show your working.
[3 marks]
2950. 4
S ‘mﬁlp.w_&:m:LS_ So you Mundup ro the
- Mdep 0
Tick a bax, A D
‘ i Sensible | Mot sensible
Commentary
Part (a) 3rd line of Additional Guidance allows the mark here
(a) 1 mark
Part (b) No relevant working
(b) 0 marks
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Student B

14 (a)  Use your calculator to work out  9.95° = 29.8
Give your answer as a decimal,
W rite down your full calculator display.

q.95 x 74 -8 : 2950 - 2745

answer __ 2Q50) . 2745 5

14 [b) Is your answer to par (a) sensible?
Use approximations to decida.
You must show yvour working.

100" ¥ 30 : A00000

M‘I% .

R

=

l/.qq:)? &'Ffrnlgtlmn-‘rﬂj 'IE:'.‘CE‘.':.Q‘.)

Tick a box. AD

s _—
V"/ Sensible ‘ ! Not sensible

Commentary

Part (a) Intention taken to be that the decimal point is in the correct position.
(a) 1 mark

Part (b) 30 scores the 1st M mark

(b) 1 mark
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Question 15

15 Show that there are exactly five 3-digit cube numbers.
[3 marks]
Student A
15 Show that there are exactly five 3-digit cube numbears.
[3 marks]

ORI
Dx 2Dx9 =125
£x 6 x b =2\b
%7 x 7 =343
613 x& = Dia
G200 G x9-F29

L T S A A0S

Commentary

The student has not shown that the only 3-digit cube numbers are the five shown. They needed to
show 64 and 1000 as well to score 3 marks.

2 marks
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Question 18

Please see the mark scheme

Question 5
No examples available

Question 20

No examples available

Question 16

16 A train has 1 first-class carriage and 6 standard carriages.

The first-class carriage has 64 seats.

% are being used.

Each standard carriage has 78 seats.

13 in each carriage are being used.

Are more than half the seats on the train being used?

You must show your working.
[5 marks]

Copyright © 2021 AQA and its licensors. All rights reserved. 8 of 16



Student A

18 Atrain hes 1 first-clagg farriege snd § giands carisges.

The firgl-tléss carrege has 64 seats.

g are baing usad

Each standard carriage has 78 seals.

1?3 in each carmage ane being used,

Are more than half the seats on the train being used?

You must show your waorking. [
[5 marks] |

Ve O - R3S X 64 = 20 Lagea)
Stevigegs ARWXE = “bx® f'fi ~ .S Xlsgx
= 260
G ttes 52 E
T X

Commentary

0.375 is an equivalent for three-eighths.
Seven-thirteenths has been rounded but the method is clearly seen. Note the second M mark is

scored at the stage where they show 250 + 24
The final mark is not scored due to the earlier rounding, but all four M marks are scored.

4 marks
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Question 5

No examples available

Question 6

6

To the nearest pound, Jon has £9
To the nearest 50p, Ellie has £6.50

Work out the maximum possible total amount of money.

[3 marks]
Student A
6 To the nearest pound; Jon has £9
To the nearest 50p, Ellie has £6.50
Work out the maximum possible total amount of money.
q4-50 &- S5 [3 marks]
N -+
g 650 |
v <
g S0 = S £ £S5

B __rcaes M
1609

arswer £\ AD

Commentary
Only one correct value is needed for the first mark and although two of them are seen this only
allows 1 mark at this stage. The second mark is awarded as the two values added are in the

required range. Note that (6.5, 6.75] means 6.5 < value < 6.75

2 marks
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Student B

6 To the nearest pound, Jon has £9
To the nearest 50p, Ellie has £6.50

Work out the maximum possible total amount of money.

q-9.60 R
6.50»6.8515

9. 50 x 6.t6= G4.125

ML)
-

BB

[3 marks]

Answer £ 68 . |2 )qx-

Commentary
B1 for 9.50 Although the two amounts are in range, the student multiplies them instead of adding.
1 mark
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Question 23

23 In one hour a machine can make
600 nuts
or
720 bolts.

At 3 pm the machine starts working.
It makes 900 nuts and then changes to making bolts.

How many bolts will the machine make by 8 pm?
[4 marks]

Answer
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Student A

23 in one hour & machine can make
e S
or

720 boits,

A3
prmt e mischine stars working.
H makes 900 nuts and then ehanges io making beils.

How many bolts will the machine make by 8 pm?
[ markcs

'lﬂ_r*n 29001

JnL._f_-.sJQ__.__ltl_a.D.n:._ S00n.

HDWPEﬁﬁ~

. fSE‘pm-. 400

N = tﬁ 0 - .
3% WLD

T.30:-7712C-

120%2.:260 (4wt 30mung)

J20+7204+712 04260 = 252 0holic

mowee 2590

Commentary
The answer is correct so it is highly unlikely that the method is incorrect. A check of the working

confirms this.
4 marks
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Student B

Ir one hour @8 machine can meke 501
BO0 nuts
oF
T20 boka.

At 3 pm the machine starts working.

it mekes $00 s and then changes. W makirg bolts.

How many bolts wil the maching make by B pm?
[4 marks]

00 = B -

Q0O = \ihnr Reenlns
|70 X A= Elﬁﬂ ELIOB0 - /A0
hr ! =

Commentary

1 h 30 min is equivalent to 1.5 (oe stands for or equivalent)
3 h 30 min is equivalent to 3.5

2 marks
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Question 27

1
27 Work out 912 =10
32 x 10
Give your answer in standard form.
[2 marks]
Answer
Student A
10
27 Work out M
32x10
Give your answer in standard form.
[2 marks]

2;@ 00000, &

Answer Qg)( JOE

Commentary

B1 for the value in the working lines.
The answer line contains an answer in standard form but has been truncated.

1 mark
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Student B

10
27 Work out _79;3 > 113
e X%

Give your answer in standard form.
[2 marks]

9.2 x(0'° = 42000000000
.7 x (B 2376060

q LO© 0000 000

32000 = 2 ! glhs‘%t)o -
Answer 2,875 (600 Bolzfi
Commentary
Digit 7 has been included.
0 marks
Question 8

No examples available
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